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Fill in the blanks with suitable answers. [3x1=373

The meaning of the word ‘heaving’ is

When mark fully was asked, why was hein India? He replied, “

There is amention of sands, in the poem ‘ The Solitary Reaper’.
Match the following : [4x1=4]
A B Answer

Fill the spinner of the years a Subhash Chandra Bose | 4.

You must ask the queen b)  Robert Frost 5.

Raised an army of 75000 c)  Sad, “Now! and each 6.

men and women one hears’

‘The Road not taken’ d) TheKing 7.

Answer the following in one sentence each : [5x1=5

‘In shadowy silent distance grew the iceberg too’
What does the underlined phrase express?

When was Amitav Ghosh,
TheVisiting Professor at Harvard University?
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10.

11.

12.

13.

14.

15.

16.

17.

18.

The Poet sounds impatient in the poem ‘work isworship’.
|dentify whether it istrue or false?

The correct form of the verb to make the given sentence meaningful:
The statue (steal) from the museum had been sold to a richman.

What is the young woman (the main character) doing in the poem.
‘The Solitary Reaper’?

Answer the following in two sentences each : [10 x 2 = 20]

Change the following into a meaningful sentence by adding ‘ing’ as an adjective
before the noun.

‘The bird peacock dances'.

Who did Uttanka feel indebted to? Why?

Was ableto/Accomplishin hislife/ Itisamazing / How much/ Subhash Chandra
Bose / Achieve and.

Rearrange the words to make a meaningful sentence.

‘A cat’s cradle
Using the phrase, make your own sentence.

When did the director become really anxious?

Write 2 rhyming words for the underlined words :
Then took the other, asjust asfair,

And having perhapsthe better claim,

Because it was grassy and wanted wear.
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19.

20.

21.

22.

23.

24.

Make sentences of your own by using the ‘Past Participle’ form of the verbs

‘behave’, ‘speak’.

Form 2 words, using the prefixes (a) un (b) non
Make sentences using the new words formed.

Combine the pair of sentences into one sentence.
(@ Rahman had scored 99
(b) Hegot out caught

Who stole the ear-rings? How?

Answer the following questions :

Give an account of Subhash as a great man as well as of vision.

[2x 4=§]

What does the poet say about the ship’s qualities in ‘The Convergence of the

Twain'?
Expressin4to 5 lines.
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